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Question Number : 1 Question Id : 6154759977 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the learning outcomes are intended 1n teaching organized at understanding level?

(1) Longer recall and retention of facts
(2) Seeking of relationships and patterns among facts
(3) Creative construction and critical interpretation of ideas

(4) Mastery of facts and information

Options:
61547538901, 1
61547538302, 2



E1547538903. 3
515475383904, 4

Question Number : 1 Question Id : 6154759977 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

15475238901, 1
61547538902, 2
61547538903 =
61547535304, 4

Question Number : 2 Question Id : 6154759978 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following statements differentiate teaching from learming?

(a) Teaching 1s a social act while learning 1s a personal act

(b) Teaching 1mplies learning

(c) Teaching 1s like selling while learning 12 ike buving

(d) Teaching can occur without learning taking place

(e) In teaching. influence is directed towards learning and learner, while in learning 1t 1s

usually towards oneself

Choose the correct answer from the following options :

(1) {a). (c) and (e) (2)  (a). (b)and (c)
(3) (b). (¢) and (d) (4) (e). (d) and (e)
Options:

E15475283905. 1
615475383906, 2
E1547538907. 3
E15475383908. 4

Question Number : 2 Question Id : 6154759978 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E15475283905. 1
615475383906, 2
E1547538907. 3
E15475383908. 4

Question Number : 3 Question Id : 6154759979 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following are classroom related factors that influence effectiveness of teaching?

(a) Prior task related behaviour of students

(b) Adherence to linear pattern of communication by the teacher
(c) Socio-economic status of the family to which learners belong
(d) Inappropriate use of technological resources by the teacher

(e) Cultural background of students

Choose your answer from the following options :

(1) (a). (b) and (c)
(2) (b). (c¢) and (d)
(3) (a). (b) and (d)
(4) (c). (d) and (e)
Options:
15475235909 1
154752358910 2

61547538911, 3
E1547538912. 4

Question Number : 3 Question Id : 6154759979 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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(1) (a). (b) T (c)
(2)  (h). (c) 3T (d)
(3) (a). (b) 3 (d)

(4) (c). (d) 3T (e)

Options:

615475389039, 1
61547538910 2
61547528911, 5
61547538912 4

Question Number : 4 Question Id : 6154759980 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following types of learning materials, the presentations are highly structured
and individualised?

(1) Textbooks prescribed by the universities

(2) Journals and the articles recommended for readings

(3) Writings of great thinkers selected for reflective readings

(4) Programmed instructional and modular learning material

Options:

615475389131
61547538914 2
615475258915, 5
61547538916 4

Question Number : 4 Question Id : 6154759980 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

615475389121
61547528914 2
61547528915 2
61547538916, 4

Question Number : 5 Question Id : 6154759981 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following types of assessment 1s conducted periodically with an eve on

standards?

(1) Formative assessment (2) Summative assessment

(3) Portfolio assessment (4) Performance assessment
Options:

61547538917, 1
61547538918, 2
E1547538918. 3
E1547538920. 4

Question Number : 5 Question Id : 6154759981 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547538917, 1
61547538918, 2
1547538919 2
E1547525320. 4

Question Number : 6 Question Id : 6154759982 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

A university teacher plans to improve the study habits of students in his/her class. Which
type of research paradigm will be helpful in this regard?

(1) Evaluative research paradigm (2) Fundamental research paradigm
(3 Applied research paradigm (4) Action research paradigm
Options:

61547528921, 1
E1547538922. 2
E1547538923. 3
B1547538924. 4

Question Number : 6 Question Id : 6154759982 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547538921. 1
B1547538922 2
B1547538923. 3
615475358924, 4

Question Number : 7 Question Id : 6154759983 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A researcher intends to make use of ICT 1n his/her research. What considerations should
welgh most 1n such a decision?

(a) Appropriateness of the tool used
(b) Cost 1nvolved 1n procuring it
(c) Availability of tools in the department where research 1s to be undertaken

(d) Willingness of his/her supervisor to offer help
(e) The company from which the ICT equipment has been procured

Choose vour answer from the following options :

(1) (a). (b) and (c) (2) (c). (d) and (e)
(3) (a). (c) and (d) (4) (b). (c) and (e)
Options:

515475389251
61547538926, 2
E1547538927. 3
61547538928, 4



Question Number : 7 Question Id : 6154759983 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547538925. 1
B1547538926. 2
B1547538927. 3
E1547538928. 4

Question Number : 8 Question Id : 6154759984 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following sampling procedures will be appropriate for conducting researches

with empirico-inductive research paradigm?
(1) Simple random sampling procedure
(2) Systematic sampling procedure

(3) Stratified sampling procedure

(4) Any of the non-probability sampling procedures

Options:

61547538929, 1
61547538920 2
E1547528921. 2
615475258922 4

Question Number : 8 Question Id : 6154759984 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
615475289291
61547538930, 2
61547538931, 3
61547538932 4

Question Number : 9 Question Id : 6154759985 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which of the following formats ‘Chapter Scheme’ of the document has to be formally

approved by a research degree committee 1n the university?

(1) Thesis/dissertation (2) Seminar papers
(3) Research articles (4) Research monographs
Options:

E1547538923. 1
B1547538924. 2
51547538935, 3
61547538936, 4

Question Number : 9 Question Id : 6154759985 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Y AT T AT T AT A1 Terd W AR 8 e wiae § favataaem 1 g T2 3wt gm

.":'.J_ r'_. _.';:_\q_‘l':_:[ P F rr—,.-lﬂ-[r? :,__'r'}

(1)  Tg-T=e /o oY T (2) #fFER 5=
3) TuTE (4) g Tty (FEETE)
Options:

E15475385923. 1
E1547538924. 2
51547538935, 3
51547538936, 4



Question Number : 10 Question Id : 6154759986 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A research scholar while submitting hiz/her thesis. did not acknowledge in the preface the
help and support of the respondents of guestionnaires used. This will be called an instance of

(1) Technical lapse (2)  Wilful neghgence
(3) Unethical act (4) Lack of respect
Options:

E1547538937. 1
B1547538938. 2
51547538925, 3
61547525940, 4

Question Number : 10 Question Id : 6154759986 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547538937. 1
61547538938, 2
E1547538929. 3
E1547535940. 4

Question Number : 11 Question Id : 6154759987 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

When there 1= an animated discussion between a teacher and his or her students in the
classroom. 1t can be classified as :

(1) Horizontal communication (2) Mechanical communication
(3) Linear communication (4) Categorical communication
Options:

E1547538941. 1
E1547538942. 2
E1547538943. 3
E15475358944. 4

Question Number : 11 Question Id : 6154759987 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



e U SAATTH AT IH EEUET F AT 1 | Siad ==l 2l 2, a1 55 S a1 ST Sl #

(1) =&t Joam (2) =i
(3) T HuEm (4) TEIE TG
Options:

515475238941, 1
61547538942 2
E15475358943. 3
E1547538944. 4

Question Number : 12 Question Id : 6154759988 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Information overload 1n a classroom evmironment by a teacher will lead to

(1) High level participation (2) Semantic precision
(3) Effective impression (4) Delayed feedback
Options:

£1547538945. 1
E154753894E. 2
E1547538947. 3
E15475358948. 4

Question Number : 12 Question Id : 6154759988 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

515475238945, 1
61547538946, 2
E15475358947. 3
615475259458, 4

Question Number : 13 Question Id : 6154759989 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A verbal communication technique used in teaching 1s

(1) Slow expression of words
(2) Varving the speed of voice and tone
(3 Presentation without pause

(4) Resorting to semantic jugglery
Options:
15475358949 1
E1547538950 2
E1547535951. 2
C1547538952 4

Question Number : 13 Question Id : 6154759989 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E15475385945. 1
E1547538950. 2
B1547538951. 3
51547538952, 4

Question Number : 14 Question Id : 6154759990 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following modes of communication can be employed 1n a classroom for effective
teaching?
(a) Top-down

(b) Iconic
(c) Associational
(d) Dissociational

(e) Svmbolic
(f) Abstract

Choose the most appropriate option from the following :

(1) (a). (b) and (f) (2) (c). (e)and (D)
(3) (b). () and (e) (4) (a).(c) and (d)
Options:

61547538952, 1
E1547538954. 2
E1547538955. 3
51547538956, 4



Question Number : 14 Question Id : 6154759990 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TTET e B e ® wuaw 1 freeea @ # R it = e G s e

(a) Z9-2134

(b) FTEFAT

()  WE=ATHF
d) fa=gaoas
(e) T

®

faertera @ | weg suge fawen gfhu

(1) (a), ) FF (D 2 (2. (e) F (O
(3)  (b). (c) HT (e) (4)  (a). (¢) # (d)
Options:

E15475385953. 1
61547538954, 2
51547538955, 3
E1547538956. 4

Question Number : 15 Question Id : 6154759991 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two Statements — One 1s labelled as Assertion (A) and other 1s labelled as

Reason (R) :

Assertion (A): Use of slang 1n formal teaching makes commumication lively and
Interesting.

Reasons (R) : Academic decency demands the avoidance of slang in the classroom
environment.

In the light of the above statements. choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 18 true, but (R) 1s false

(4) (A) 1= false. but (R) 1s true



Options:

61547538957, 1
£1547538958. 2
E1547528959 2
61547538960 4

Question Number : 15 Question Id : 6154759991 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A= AfFE (A) AT T (R) $ =0 A o F99 fgu e &

TR (A) SR & § ST ST S A JUN R SiEa A ST S 6

a6 F2H (R) : St TatEr a1 9iEm | SHIgETE 919 % 9E § s=d #5091t 2
I HEE F ATAE § GAl fahed T

(1) (A) 3R (R) 5F1 =&t & 31K (R). (A) i 981 =9 2
(2)  (A) 3R (R) 5HT T&f & 3l (R). (A) = Tat =amear 741 &
(3) (A =#E ®, Wg (R) T 2

(4)  (A)Ted &, g (R) Tl B

Options:

61547538957, 1
£1547538958. 2
E1547528959 2
61547538960 4

Question Number : 16 Question Id : 6154759992 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a certain coding language. "AEIOU 1s wnitten as TNHDZ. Using the same coding
language, ‘BFJPV will be written as

() UOIEA (2) AEIOU
(3) CGEKQW (4) WQKGC
Options:

E1547538961. 1
B1547538962. 2
51547538963, 3
E15475358964. 4

Question Number : 16 Question Id : 6154759992 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

wF F2 9T # AEIOU =i “TNHDZ' % =1 ® fomgn a1 2| 35t %2 9o &1 v =2 ‘BFJPV =1 fFm

=7 7 o s ?

(1) UOIEA (2) AEIOU
(3) CGEKQW (4) WQKGC
Options:

51547538961, 1
B154753896%. 2
E1547538963. 3
61547525964, 4

Question Number : 17 Question Id : 6154759993 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If 3% of (a+b) = 7% of (ab)

and 5% of (a—b) = 4% of (ab),

then what percentage of b 1s a?

47 23

(1 % 9y =229
) 93" @ 7"
@ 40, @ 2300,
923 47
Options:

E1547538965. 1
E1547538966. 2
B1547538967. 3
61547538965, 4

Question Number : 17 Question Id : 6154759993 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E15475385965. 1
E1547538966. 2
B1547538967. 3
51547538968, 4

Question Number : 18 Question Id : 6154759994 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The sum of a number and its inverse 1s —4. The sum of their cubes 1s :

(1) 52 (2) 52
(3) 64 (4) —-64
Options:

515475389645, 1
E1547538970. 2
61547528971, 3
E1547538972. 4

Question Number : 18 Question Id : 6154759994 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) —52 (2) 52
(3) 64 (4) —64
Options:

E154752896%9. 1
61547538970, 2
E1547538971. 3
E1547538972. 4

Question Number : 19 Question Id : 6154759995 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A certain principal invested at compound 1nterest payvable yvearly amounts to Rs. 10816.00 1n
3 yvears and Rs. 11248.64 in 4 years. What 1s the rate of interest?

I 3% 2 4%
(3) 4.5% (4) 5.5%
Options:

515475389731
61547538974, 2
61547538975, 3
E1547538976. 4

Question Number : 19 Question Id : 6154759995 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 3% (%) 4%
(3) 4.5% (4) 5.5%
Options:

E1547538973. 1
615475238974, 2
E1547538975. 3
BE1547538976. 4

Question Number : 20 Question Id : 6154759996 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the exact equivalent discount of three successive discounts of 10%, 15% and 20% by
sale of an article?

(1) 35.8% (2) 38.5%
(3  35.5% (4) 38.8%
Options:

BE1547538977. 1
61547538978, 2
61547538979, 3
61547528980, 4

Question Number : 20 Question Id : 6154759996 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 35.8% (2)  38.5%
(3) 35.5% (4) 38.8%
Options:

E15475388977. 1
E1547538978. 2
B1547538979. 3
51547538980, 4

Question Number : 21 Question Id : 6154759997 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following hetwabhasa (fallacy) 1s involved 1n the argument, “Sound i1s
element because it 1s cauzed™?

(1) Viruddha or contradictory middle
(2) Satpratipaksa or inferentially contradicted middle

(3) Sﬁdh}'asama or the unproved middle

(4) Badhita or non-1nferentially contradicted middle
Options:
6154753896511
61547538982 2
61547538953 2
15475389584, 4

Question Number : 21 Question Id : 6154759997 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547538981, 1
E1547538982. 2
61547538982, 3
E15475389854. 4

Question Number : 22 Question Id : 6154759998 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider the following argument :

Statements : Some chairs are curtains.
All curtains are bedsheets.

Conclusion : Some chairs are bedsheets.

What 1s the Mood of the above proposition?

(1) IAT (2) IAA
(3) ITA (4) AII
Options:

61547538985, 1
61547538986, 2
E1547538987. 3
E1547538988. 4

Question Number : 22 Question Id : 6154759998 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T TS FET IS E

, N — - ;
WTE Q':; = | r.-l

- T

% T = L
UL deh—dl9g = T&a=H 1 & ¢

(1) IAI (2) IAA
(3) ITA (4) AII
Options:

E1547528985. 1
61547538986, 2
E1547538987. 3
E1547538988. 4

Question Number : 23 Question Id : 6154759999 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s converse of ‘Some S 1s P*?

(1) Some S 1s not P (2) SomePisnotS
(3) Some P1s S (4) NoPisS
Options:

61547538989, 1
615475258930, 2



E15475389391. 3
B1547538982. 4

Question Number : 23 Question Id : 6154759999 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

F3 S, P 7 - TH Uadm Fefeifgd 9 o A1 27

(1) F8S8.PFi= (2) FBP.STH 3
Options:

E1547538989. 1
515475389390, 2
51547538951, 3
61547538932, 4

Question Number : 24 Question Id : 61547510000 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following fallacious hetu (middle term) is not uniformly concomitant with
the major term?

(1) Asatpratipaksa (2) Auvatireka
(3) Anyonya-Asiddha (4) Suyabhicara
Options:

615475289392, 1
E15475389394. 2
B1547538955. 3
51547538956, 4

Question Number : 24 Question Id : 61547510000 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FeAfetad B o S 3999 =d H@159 U5 % OO F9 § T T8 8 7

(1)  =1=e ufaus (2) oA

(3) I 1= | oz (4) T
Options:

E1547538993. 1
51547538954, 2
61547538935 3
E154753589396. 4

Question Number : 25 Question Id : 61547510001 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to classical Indian school of logic. what 1s the correct sequence of steps involved 1n
Anumana (influence)?

(1) Upana}-'a.PratijI;a. Hetu, Udaharana . Nigmana
(2) Prat.ij;la. Hetu, Upanaya. Udaharana , Nigmana
(3) Pratij;m . Upanaya. Hetu, Udaharana . Nigmana
(4) Pratijgla . Hetu. Udaharana . Upanaya. Nigmana

Options:

61547538997, 1
615475389398 2
1547538999 2
E1547529000. 4

Question Number : 25 Question Id : 61547510001 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

. ~ r = -, e - - - - e P S
R YA TR il FEREE AR FAE 0 HiEd S9E-3T69 F 9] HeenEd 9 "
FIAET ATHA TRl B 7

(1) T, TTHeT, E'T-[ 22T, e (2) wfaa, Tﬁ 30, IR, A
(3) ofes, 397, 74, e, e (4) wfamm, =4, sEww, I,
Options:

61547528937, 1
E1547538995. 2
B1547538999. 3
51547533000, 4

Sub-Section Number: 2
Sub-Section 1d: 615475433
Question Shuffling Allowed : Yes

Question Id : 61547510002 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Juestion Label - Comprehension



The following table gives the percentage of marks obtained by 6 students in 5 different
subjects 1n an examination. The numbers in the parenthesis give the maximum marks In
each subject. Answer the given gquestions based on the table :

Subject (Max. Marks) Percentage (%) of marks obtained

Name of - : : :

stsderk Maths | Chemistry | Physics Biology English
(150) (130) (120) (100) (100)

Anlkat a0 a0 80 60 70

Amar 100 60 70 40 80

Sanva a0 60 85 80 G0

Rahul S0 fis) G5 a0 a0

Puneet S0 80 70 85 50

Pooja 70 i) 50 80 40

Sub questions

Question Number : 26 Question Id : 61547510003 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the overall percentage of marks obtained by Amar?

(1) 70% 2y 72%
(3) 60% (4) 58.33%

Options:
£1547533001.

E1547533002Z,
E1547533003.
51547523004,

[ N

Question Number : 27 Question Id : 61547510004 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What was the aggregate of marks obtained by Sanyva in all the five subjects?

(1) 375 (Z2) 395
(3) 455 (4) 475

Options:
61547539005,

E15475330086,
E1547533007.
51547523008,

[ N S

Question Number : 28 Question Id : 61547510005 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



What 1s the average marks obtained by all the six students in Chemstry?

(1) 86.66 (2) 76.66
(3) 66.66 (4) 60.00
Options:

51547523003, 1
61547533010, 2
61547533011, 3
E154752301Z2. 4

Question Number : 29 Question Id : 61547510006 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many students obtained 60% and above marks 1n all the subjects?

(1) Three (2) Two
(3) One (4) Zero
Options:

E1547538013. 1
E1547539014. 2
51547533015 3
51547533016, 4

Question Number : 30 Question Id : 61547510007 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which subject the performance of the students is worst 1n terms of percentage of marks?

(1) Chemistry (2) Physics
(3) Bioclogy (4) Enghsh
Options:

515475233017, 1
61547533018, 2
61547533013, 3
61547523020, 4

Question Id : 61547510002 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuesticon Label | Comprehension



et @ifeem & Arem 4 R ol 1 ©: smil gm 5 fE-fam e 5 awe i o FgEen
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I o

faw= ITH ST =i aiaerdr (%)
(ATeRan 37%)

=79 F 91 TTfor A gitgh | SE-fawE | s
(150) (130) (120) (100) (100)

A 00 50 80 60 70

IR 100 60 70 40 80

= 00 60 85 80 60

TEd 80 75 65 90 90

g 80 80 70 85 50

LEL 70 75 50 80 40

Sub questions

Question Number : 26 Question Id : 61547510003 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FTHL AT OTH 31 i e afaeraer fRal 27

(1) 70% (2) 72%
(3) 60% (4) 58.33%
Options:

£1547539001.
C1547539002,

E1547533003.
515475233004,

[ N

Question Number : 27 Question Id : 61547510004 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tt o= faw=t | T & TEE g A e R

(1)

Lo
L

Lad
WO
L& ]

(2)
(3)  45¢

Lo ]
LN

(4) 4

]

LA

Options:
£1547539005,

E1547 533006,
515475233007,
51547523008,

e LI M



Question Number : 28 Question Id : 61547510005 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
THEE TagH § g S D11 B HAEd ITH T HAE B 7

(1) 86.66 (2) 76.66
(3) H6.66 {4y 60.00
Options:

E154753300%3. 1
E1547539010. 2
515475339011, 3
51547533012, 4

Question Number : 29 Question Id : 61547510006 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Tl fHag 9 T 9 4 60% I1 SHE SAH 37 UTH B0 R 7

-~ -

(1) GIE (2) =i
(3) = (4 I=
Options:

61547523012 1
E1547539014. 2
E1547539015. 3
51547533016, 4

Question Number : 30 Question Id : 61547510007 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

S i ufeeraar =1 3fe ® fHE fav 4wt # o ges wue wE

(1) e e (2) HiEw-TaE
(3) = EEE (4) ==
Options:

61547533017, 1
61547523015, 2
E15475380148. 3
E1547539020. 4

Sub-Section Number: 3
Sub-Section 1d: 615475434
Question Shuffling Allowed : Yes



Question Number : 31 Question Id : 61547510008 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following tasks 1s associated with changing appearance of a document in
word processing?

(1) Editing (2) Formatting
(3) Writing (4) Printing
Options:

61547523021, 1
E1547539022. 2
E1547539023. 3
B1547533024. 4

Question Number : 31 Question Id : 61547510008 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FefeIfiad e 8 § -3 5 92 TEET | SiegEs F =EY d 95| § 131 2 7

1) = (ofsfen) @ W
Gy i () @) T (Fafem)
Options:

E1547539021. 1
E1547539022. 2
B1547533023. 3
51547533024, 4

Question Number : 32 Question Id : 61547510009 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The term one gigabyte refers to :

(1) 1024 petabytes (2) 1024 megabytes
(3) 1024 kilobytes (4) 1024 bytes
Options:

E1547539025. 1
B1547539026. 2
B1547533027. 3
E1547533028. 4

Question Number : 32 Question Id : 61547510009 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1) 1024 TZrEEg (2) 1024 TMETES
(3) 1024 FrerraEEH (4) 1024 =iEem
Options:

61547533025, 1
E1547539026. 2
E1547539027. 3
51547533028, 4

Question Number : 33 Question Id : 61547510010 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

15 a wireless technology built in electronic gadgets for transferring data over
short distance

(1) WiF1 (2) Bluetooth
(3) Modem (4) USB
Options:

E1547539023. 1
E15475390230. 2
51547533021, 3
61547533032, 4

Question Number : 33 Question Id : 61547510010 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

U A TR B A 3 G SeT o A % fon s 39 | i wen #

1) 9B wE (2) w=u
(3) Hi=H (4) Fums]
Options:

61547523029, 1
61547523030, 2
E1547539021. 3
E1547539032. 4

Question Number : 34 Question Id : 61547510011 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



PCI stands for

(1) Partial Component Interconnect (2) Partial Component Interaction
(3) Peripheral Component Interconnect (4) Peripheral Component Interaction
Options:

61547523032, 1
E1547539034. 2
E15475339035. 3
51547533036, 4

Question Number : 34 Question Id : 61547510011 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T H 317E RO 9199 =9 7

(1)  wIETg= FUHE SerFae (2) TIEES FIHE S2EE

(3) T a2 T2 (4) UTFE FUHZ ST
Options:

61547523032, 1
E1547539034. 2
E15475339035. 3
51547533036, 4

Question Number : 35 Question Id : 61547510012 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The national agency for responding to computer security incidents as and when they occur.
18

(1) CAT (2) CDAC
(3) CCA (4) ICERT
Options:

E1547539037. 1
61547533038, 2
51547533025, 3
61547533040, 4

Question Number : 35 Question Id : 61547510012 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



U T 2 H gl g O meEtad 9l W ST At 7 o

(1) o T A (2) WFHud
(3) Hrdrw (4) M= =i = 3F 7
Options:

E1547539037. 1
E15475390238. 2
51547533035, 3
61547533040, 4

Question Number : 36 Question Id : 61547510013 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify from the options given below. the co-benefit of Montreal Protocol

(1) Impetus to development of energy efficient systems
(2) Reduction in carbon dioxide (equivalent) emissions
(3) Convergence of efforts of international community in addressing air pollution
(4) Control of transboundary movement of hazardous waste
Options:

E1547539041. 1
51547539042 2
51547533043, 3
61547533044, 4

Question Number : 36 Question Id : 61547510013 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT TeFeal 5§ Hif-29 TIErhe * Hu-o19 i =iad i

(1) FHAT 9 U F IR F OO

(2) FTEq SEATFIES (FHT4) Iegs9 § ]
(3) 91 vEEW # A U ® g 9HEE % YA H ATEE

(4) IR AU % HE % 6 e W

Options:
61547539041, 1
61547539042 2



E1547539043. 3
51547533044, 4

Question Number : 37 Question Id : 61547510014 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Under Green India Mis=ion. how manv hectares of degraded forest land 1s to be brought

under afforestation?

(1) 02 million hectares (2) 06 million hectares
(3) 08 million hectares (4) 20 million hectares
Options:

E1547539045. 1
B1547533904E. 2
61547533047, 3
615475330458, 4

Question Number : 37 Question Id : 61547510014 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(1) 02 fafe=m z7em (2) 06 Taferam sFem
(3) 08 THferEa s (4) 20 Mol s%em
Options:

61547523045 1
61547523046, 2
E1547539047. 3
E15475390458. 4

Question Number : 38 Question Id : 61547510015 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The themes of some Sustainable Development Goals are

(a) Chmate action

(h) Sustainable cities and communities

(c) Peace. justice and strong institutions

(d) Skill development and decent emplovment
(e Green agriculture

(f) Reszponsible consumption and production

Choose the most appropriate from those given below :

(1) (a). (b). (c). (e) and (f)
(2) (b). (c). (e) and ()
(3) (b). (c). {d). (e) and (D
(4) (a). (b). (¢) and ()

Options:

61547539049 1
61547529050, 2
61547539051, 5
61547539052, 4

Question Number : 38 Question Id : 61547510015 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Fidua g faFm Fa & 7w E -
(a) o™ FHE
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(1)  (a). (b). (c). (e) 31 (P
(2) tbLtthenaﬁILﬂ
(3) (). (c). (d). (e) AT (D

(4)  (a). (b). (c) T (f)
Options:
51547539049, 1
61547539050, 2
61547539051, 3
61547539052, 4

Question Number : 39 Question Id : 61547510016 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The most dominant source of Benzene emissions 1in ambient air is

(1) Cement industry (2) Cigarettes
(3) Car exhausts (4) Paints and varnish
Options:

E1547538053. 1
E1547539054. 2
51547533055, 3
51547533056, 4

Question Number : 39 Question Id : 61547510016 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  Hw= z=am 2 Tome
3) W Fadw (4) Uz 3 AT
Options:

51547533053, 1
61547533054, 2
61547533055, 3
E1547539056. 4

Question Number : 40 Question Id : 61547510017 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The most important pollutants that cause degradation of water quality 1n rvers and streams
are
(a) Bacteria
(b) Nutrients
(c) Metals
(d) Total dissolved solids
(e) Algae

Choose the most appropriate answer from the options given below :

(1) (a). (b) and (c) (2) (a), (b) and (d)
(3) (a). (b). (d) and (e) (4) (a). (b). (c), (d) and (e)
Options:

E15475339057. 1
E1547539058. 2
51547533055, 3
61547533080, 4

Question Number : 40 Question Id : 61547510017 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)  =E

b)  TEF A

(c) HTd

d) T HA N IE

(e) I

fefertian fampea o & @il SUge 300 1 =999 hiraw

1) (). (b) 3 (¢) (2 (a). (b) #T (d)
(3 (a). ®). (d) I (e) (4) (a), (b). (c), (d) =71 (e)
Options:

51547533057, 1
61547533058, 2
E15475330549. 3
61547523080, 4

Question Number : 41 Question Id : 61547510018 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Database WOS stands for

(1) Web of Science (2) Web of Sources
(3) World of Science (4) Web of Service
Options:

51547533081, 1
61547533062, 2
E1547533063. 3
E1547539064, 4

Question Number : 41 Question Id : 61547510018 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

5ld i-5_-1. L2 .E_r"if"“:! -S:H ey T"'-.'

(1) =9 7 =99 (2) =9 3% AES

(3)  =FE ¥AF TTH (4) F= 7 GlEg
Options:

61547533081, 1
E154753306%2. 2
615475330683, 3
E1547539064, 4



Question Number : 42 Question Id : 61547510019 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The major barriers for access to higher education 1n India are :

(a) more opportunities of emplovment for less educated
(b) government policies

(c) language of instruction

(d) economic status

(e) competition from forelgn universities

() gender discrimination 1n soclety

Choose the correct answer from the options given below :

(1) {a). (b) and (c) (2)y (b). {c) and (e)
(3) (c). (d) and (D (4) (d). (e) and ()
Options:

61547533065, 1
E1547539066. 2
E1547539067. 3
51547533068, 4

Question Number : 42 Question Id : 61547510019 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

qE H w3 e o At | 5 A E o
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(b)  HCRRI it
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(1) (a). (b) # (c) (2 (b, (c) I (o)
3) (o). (d) 37 (D 4)  (d). (e) #7 (D
Options:

E1547533065. 1
61547533086, 2
E1547539067. 3
E1547533068. 4

Question Number : 43 Question Id : 61547510020 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

According to GATS (General Agreement on Trade and Services). higher education should be

a commodity in the

(1) domestic public sector (2) domestic private sector
(3) non-trading sector (4) global marketplace
Options:

515475330845, 1
61547533070, 2
61547523071, 3
E1547539072. 4

Question Number : 43 Question Id : 61547510020 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

U F TH (SR AR HETs ge " THEan) F AgEn 3= e s e stee wm anEe

(1)  oie] 50 &9 @ we a
(B e o (4) Afvas FrE ==
Options:

B15475233069. 1
61547533070, 2
61547533071, 3
61547533072, 4

Question Number : 44 Question Id : 61547510021 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following statements 1s true in the Indian context?

(1) Autonomous colleges can grant degrees independent of umversities
(2) Autonomous colleges can grant only bachelor’s degree independent of universities

(3) Except doctoral degrees. all other degrees and diplomas can be granted by

autonomous colleges

(4) Whatever may be the degree or diploma. autonomous colleges can grant them under

their own name but under the seal of an affiliated university

Options:
61547539073, 1
61547539074 2

61547533075, 3



E1547539076. 4

Question Number : 44 Question Id : 61547510021 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g gfies o foifeg § O -1 e od 27
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(4) == =iz o Iuily =1 S B e AEiadeE 6 30 AW SAdd USH # G%d B g HE
Heg favataemem $i w5l

Options:

61547539073 1

E1547538074. 2
E1547539075. 3
B1547533076. 4

Question Number : 45 Question Id : 61547510022 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Rashtriva Uchhatar Shiksha Abhivan (RUSA) aims to achieve the following in Higher

Education System :

(a) Equity
(b) Access
(c) 50% GER

(d) Excellence

Choose the correct option from those given below :

(1) (a), (b) and (c)
(2) (a). (c) and (d)
(3) (a). (b) and (d)
(4) (b). (c) and (d)

Options:
B1547533077. 1

E1547539075. 2
E1547539073. 3
51547533080, 4



Question Number : 45 Question Id : 61547510022 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) G

(b) AT

(d) ElE:oll
= fow o faedt @ @ wE famew gihw

1)  (a). (b) 7 (c)
(2) (). (c) ¥ (d)
(3)  (a). (b) 37 (d)
4)  (b). (c) ¥ (d)
Options:
C1E47FEZ9077F 1
L1E47EZ9078. 2

B1547533075. 3
51547533080, 4

Sub-Section Number: 4
Sub-Section 1d: 615475435
Question Shuffling Allowed : Yes

Question Id : 61547510023 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Juestion Label - Comprehension



Read the passage carefully and answer questions that follow :

There 1s no doubt that the market as a realitv and political economy as a theory plaved an
umportant role in the liberal crtique. But liberalism 1z neither the consequence nor the
development of these: rather. the market played. in the hiberal eritique. the role of a “test”, a
locus of privileged experience where one can identify the effects of excessive governmentality
and even welgh their significance: the analvsis of the mechamsms of “dearth” or more
generally. of the grain trade 1n the middle of the eighteenth century. was meant to show the
point at which goverming was always governing too much. Therefore. an anlaysis to make
visible. 1n the form of evidence. the formation of the value and circulation of wealth—or, on
the contrary. an analyvsis pre-supposing the intrinsic invisibility of the connection between
individual profit-seeking and the growth of collective wealth—economies, 1n any case. shows a
basic ncompatibility between the optimal development of the economic process and
maximisation of government procedures. It 13 by this. more than the play of ideas. the
French or English economists broke away from mercantilism and commercialism: they freed
reflection on economic practice from the hegemony of the “reason of state” and from the
saturation of governmental intervention. By using it as a measure of “governing too much”,
they placed 1t at the limit of governmental action. Liberalism does not derive from jurdical
thought any more than it does from an economic analysis. It 1s not the 1dea of a political
soclety. but the result of search for a liberal technology of government.

Sub questions

Question Number : 46 Question Id : 61547510024 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following plaved a role in the liberal eritique?

(1) Liberalism as a consequence of market forces
(2) Liberalizm as an offshoot of political economy
(3) Reality of market
(4) Political economy as a practice

Options:

51547533051, 1
E1547533082. 2
61547533052, 3
E15475390854. 4

Question Number : 47 Question Id : 61547510025 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The liberal critique examined the 1implications of

(1) market expansion (2) too much governance

(3) growth of polhitical economy (4) politics of marketisation

Options:



E1547539085. 1
51547533086, 2
B1547533087. 3
61547533058, 4

Question Number : 48 Question Id : 61547510026 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What kind of evidence was needed to make the liberal critique visible?

(1) Circulation of wealth (2) Pre-supposing individual profit
(3) Dearth 1n supply of grain (4) Incompatibility of growth
Options:

E1547539089. 1
51547533030, 2
51547533031, 3
61547533032, 4

Question Number : 49 Question Id : 61547510027 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

What 13 incompatible with optimal economic development?

(1) Plav of 1deas

(2) Absence of commercialism

(3) Political society

(4) Excessive government procedures
Options:

E15475390383. 1
5154753303594, 2
515475330385, 3
61547533036, 4

Question Number : 50 Question Id : 61547510028 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The passage 1s indicative of the author's preference to

(1) economic hegemony of individuals
(2) Iimit government control of economics
(3) seek hberalism from jurdical thought

(4) promote individual profits

Options:



E1547539087. 1
615475330388, 2
515475330545, 3
E1547523100. 4

Question Id : 61547510023 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuestion Label © Comprehension
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Sub questions

Question Number : 46 Question Id : 61547510024 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

SEFATE] T | fAefertad § ° e gire w87

(1)  STERERT % TROHEEY 3ERATE (2) TEHATTGF A qHOHEEY IEEEE
(3) =R =l Il (4) =HEEN F FY H UEHIOE ATSTEAT
Options:

61547533051, 1
E1547533082. 2
E1547538083. 3
E15475390854. 4

Question Number : 47 Question Id : 61547510025 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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P~ w N i ol ] y s ~
ISFATG] TUTIAT H TohE [Hinardl =k TH1E =60 T3

(1) ST T TN (2) Feataw TmEA
(3)  TEAaE AY=EEEdT 1 A (4) ETARTER # T
Options:

51547533085, 1
61547533056, 2
E1547533087. 3
E1547539088. 4

Question Number : 48 Question Id : 61547510026 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SETETEl TATT 1 56 &9 54 % 70 | TR o WA i e o 7

(1) & = af=ed (2) =ATHTE AT F GEAAE
(3) e i g § FAE (4) T = wHe B
Options:

E1547533059. 1
E15475390380. 2
E1547539031. 3
B15475330352. 4

Question Number : 49 Question Id : 61547510027 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

srag AU AFE F ey e d g FH-s99 &7
(1) e | e

(2) EHUIEZE TR IC|

(3)  TeHIdH THIE
(4) oIS HERET FEUEE
Options:

E15475390383. 1
5154753303594, 2
515475330385, 3
61547533036, 4

Question Number : 50 Question Id : 61547510028 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547539097, 1
61547539038 2
61547529099, 5
61547539100 4

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

Question Number : 51 Question Id : 61547510029 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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Options:
61547539101, 1
61547529102 2

PART II Urdu

615475134
2

Online
Mandatory
92

92

200

Yes

No

1
615475436
Yes
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B1547539103. 3
515475233104, 4

Question Number : 51 Question Id : 61547510029 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
u:f;ij/"’f.wé“;f ,ﬂgleuﬁﬁguﬁfu?.Lb;u’l
?.z_;,mdu;”luﬁui’”J'.;a/ut/?u’lLfbﬂg

- INC) g4

AN

AN

(3)

Options:
61547539101, 1

E1547539102. 2
E15475339103. 2
515475233104, 4

Question Number : 52 Question Id : 61547510030 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marke:
Fesd Ty I AT

B A Rl et Ll o NP

e sl LS BeS o el bl o
@;Lw’;fmém (4) ;;Ll?d,gfd:fr’ (3)

Options:

61547539105, 1
61547539106 2
E1547529107. 2
615475239108, 4

Question Number : 52 Question Id : 61547510030 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frasd 1o AT

. EF 2SRl et o LSt N
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@:L@fﬁf;«bém (4) :_.-:L.l_pd,gfd:ff (3)

Options:

61547539105, 1
61547539106, 2
61547539107, 2
61547539108, 4

Question Number : 53 Question Id : 61547510031 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
J/-ﬂéz ANy U o f ol U 2 & s d{ (}1 2 (% Cé (}fﬁ
te Qb5 Ut AUIL A

Jlﬁaﬂ“’ (2) J*"/.:/"” (1)
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Options:

61547539109, 1
1547539110 2
1547529111, 2
61547539112 4

Question Number : 53 Question Id : 61547510031 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
,fﬁuszlfc,ﬁ;’/‘w@wa_»: 44?;«&(}13«'/265&/
te QbBper IUt AUIL

Qs @ J“'/ e
O e 5(' = (3)

Options:
61547539109, 1



E1547539110. 2
61547539111, =
615475391172 4

Question Number : 54 Question Id : 61547510032 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:
£1547539113. 1

E1547539114. 2
E1547539115. 3
515475339116, 4

Question Number : 54 Question Id : 61547510032 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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sl d st S M3
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Options:

61547539113, 1
1547539114 2
1547529115 2
615475239116, 4

Question Number : 55 Question Id : 61547510033 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547539117, 1
61547539118 2
61547539119 =2
61547539120 4

Question Number : 55 Question Id : 61547510033 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547539117, 1
615475291158 2
61547539119,
61547539120 4

Question Number : 56 Question Id : 61547510034 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547539121, 1
61547539122 2
61547539123 2
1547539124 4

Question Number : 56 Question Id : 61547510034 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547539121, 1
61547539122 2
61547539123 2
1547539124 4

Question Number : 57 Question Id : 61547510035 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0 .
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Options:

61547539125, 1
61547539126 2
E15475329127. 2
61547539128 4

Question Number : 57 Question Id : 61547510035 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0 .
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Options:

615475391251
E1547529126. 2
61547539127, 5
61547539128 4

Question Number : 58 Question Id : 61547510036 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547539129 1
615475239120 2
61547539131, =
61547539132 4

Question Number : 58 Question Id : 61547510036 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547539129 1
615475239120 2
61547539131, =
61547539132 4

Question Number : 59 Question Id : 61547510037 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547539133, 1
1547539124 2
£1547529135 2
61547539126, 4

Question Number : 59 Question Id : 61547510037 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547539133, 1
61547539124 2
61547539135 2
61547539136 4

Question Number : 60 Question Id : 61547510038 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
S 22,lf utuéfb’ﬂ.wmur/ e “Jb(‘,g)b'ff "5}"’66;%& &
KoLl (2 kol @

K&Lu;lbb (4) b’i_g;;ibb (3)

Options:

61547539137, 1
61547539138 2
61547539139 2
61547539140 4

Question Number : 60 Question Id : 61547510038 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547539137,
1547539138,
£1547539139.
61547539140,

o IR

Question Number : 61 Question Id : 61547510039 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547539141, 1
61547539142 2
61547539143 =2
£1547539144 4

Question Number : 61 Question Id : 61547510039 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
615475391411

E1547539142. 2
E1547539143. 3



E1547539144. 4

Question Number : 62 Question Id : 61547510040 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(.5}: (2) d’fﬁcj;l (1)
"~ @ 04 @

Options:
61547539145 1

E154753914E. 2
E1547539147. 3
515475239148, 4

Question Number : 62 Question Id : 61547510040 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547539145, 1
61547539146 2
61547539147, =
615475391458 4

Question Number : 63 Question Id : 61547510041 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547539149, 1
E1547529150. 2
61547529151,
61547539152 4

Question Number : 63 Question Id : 61547510041 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547539149 1
615475239150, 2
61547539151,
61547539152 4

Question Number : 64 Question Id : 61547510042 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547539153,
61547539154,
£1547539155.
61547539156,

o IR

Question Number : 64 Question Id : 61547510042 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547539153, 1
61547539154 2
£1547529155 =
61547539156, 4

Question Number : 65 Question Id : 61547510043 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547539157,
61547539158,
61547539159,
1547539160,

o P

Question Number : 65 Question Id : 61547510043 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547539157, 1
61547539158 2
61547539159 2
1547529160 4

Question Number : 66 Question Id : 61547510044 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547539161, 1



E1547539162. 2
51547533163, 3
51547539164, 4

Question Number : 66 Question Id : 61547510044 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
61547539161, 1

E1547539162. 2
E1547539163. 3
51547539164, 4

Question Number : 67 Question Id : 61547510045 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

?égr'LJJW&fﬁU: “ﬂf;ﬁlédgagjﬁb
@u"o (2) &Lr 3 (1)

-

(8 (4) P IJ('I,; (3)

Options:

61547539165, 1
1547529166 2
61547539167, o
61547539168, 4

Question Number : 67 Question Id : 61547510045 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547539165, 1
61547539166 2
61547539167, 2
1547529168 4

Question Number : 68 Question Id : 61547510046 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547539169 1
61547539170 2
61547539171,
61547539172 4

Question Number : 68 Question Id : 61547510046 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547539169, 1
61547539170 2
61547539171, 2
61547539172 4

Question Number : 69 Question Id : 61547510047 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

se et e A AU LB il 2
w,ﬂ ) Klg -~ O
Y @ ’J/:ZJL (3)

Options:

615475591731
61547539174 2
61547539175 2
61547539176, 4

Question Number : 69 Question Id : 61547510047 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Luj@ 2) (:g.....z/-‘é (1)
Eend @ Lzl @

Options:
615475391731



E1547539174. 2
51547533175 3
615475339176, 4

Question Number : 70 Question Id : 61547510048 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

?ﬁﬁ_,;l{:’ng{“uL”E;”
2/ @ (,5:@@’3?7 S
o @ LB e

615475331771
61547533178, 2
61547529179, 3
E1547539180. 4

3

Question Number : 70 Question Id : 61547510048 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

?:ﬁ;;.ft;’lb’u’(“ub*tﬁj”
20/ @ d;LT/uydf( (1)
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BE1547539177.1
B15475339178. 2
515475339175 3
61547523180, 4

Question Number : 71 Question Id : 61547510049 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547539181, 1
61547539182 2
1547529182 =2
615475239184, 4

Question Number : 71 Question Id : 61547510049 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547539181, 1
61547539182 2
1547529182 =2
615475239184, 4

Question Number : 72 Question Id : 61547510050 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547539185, 1
61547539186 2
61547539187, 2
615475391388 4

Question Number : 72 Question Id : 61547510050 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(4 uf 2) ¢ b
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bsi® (1) 1l
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Options:

61547539185, 1
61547539186 2
61547529187, 5
61547539188, 4

Question Number : 73 Question Id : 61547510051 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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23 (2 25 (1)
21 4@ 24 (3)

Options:
61547539159 1

E1547539130. 2
E15475391391. 3
515475391582, 4

Question Number : 73 Question Id : 61547510051 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

?;:;,J&Jguyyg “bigbsl 17Uk

23 (2 25 (1)
21 (4) 24 (3)

Options:

61547539189, 1
61547539190 2
61547539191 =2
£1547529192. 4

Question Number : 74 Question Id : 61547510052 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547539193, 1
61547539194 2
61547539195 =
1547539196 4

Question Number : 74 Question Id : 61547510052 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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“Unbbb o
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Options:
615475391493 1

E15475391394. 2
E15475391395. 3
515475331356, 4



Question Number : 75 Question Id : 61547510053 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
U E e bl Fei™
;)/j' (2) g (1)

< Fl @ =k 3

Options:

61547539197, 1
61547539198, 2
61547539199 2
61547539200 4

Question Number : 75 Question Id : 61547510053 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

U E e bl T
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-l Fl (@) =k 3
Options:
61547539197, 1
1547539198 2

61547529199, 3
E1547539200. 4

Question Number : 76 Question Id : 61547510054 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ebblr T St L b L el F Lo Uihs

JVJ;Z (2) L4 (1)
o):{/}'é.—lfi (4) wd 7 @



Options:

61547539201, 1
61547539202 2
E1547529202. 2
615475239204, 4

Question Number : 76 Question Id : 61547510054 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
bl T S E bl el L s
Jaﬂ/;f (2) 54 (1)

OA:{/?Z.._I:Zi (4) wd 7 B

Options:

61547539201, 1
61547539202 2
E1547529202. 2
615475239204, 4

Question Number : 77 Question Id : 61547510055 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

?cg,gi»bJeruﬁﬁéT
A~ @ ('.’// (1)
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Options:

61547539205, 1
61547539206 2
E15475329207. 2
61547539208, 4

Question Number : 77 Question Id : 61547510055 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547539205, 1
61547539206 2
E15475329207. 2
61547529208, 4

Question Number : 78 Question Id : 61547510056 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547539209, 1
61547539210 2
61547539211, =
61547539212 4

Question Number : 78 Question Id : 61547510056 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:



E1547539209. 1
61547539210, 2
61547539211, 3
E154753921%2. 4

Question Number : 79 Question Id : 61547510057 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547539213, 1
61547539214 2
61547539215 2
61547539216 4

Question Number : 79 Question Id : 61547510057 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547539213,
61547539214,
61547539215,
£1547539216.

[ N

Question Number : 80 Question Id : 61547510058 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

?f:d;u:f.ﬁ,awgwb/ufc;duti
ey (2) b
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Options:
E1547539217.

E1547539218.
BE15475392149.
B1547533220.

[ R

Question Number : 80 Question Id : 61547510058 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

&1547559217. 1
61547539218, 2
61547539219 2
61547539220 4

Question Number : 81 Question Id : 61547510059 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

st nd {pE S L w S
L/juf 2) erj,:g 1)
L(jéL (4) L(J» (3)

Options:
615475392211

E1547539222. 2
E1547539223. 3
B1547539224. 4

Question Number : 81 Question Id : 61547510059 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

st dnd L pE S il § i
L/‘juf 2) erj,:g 1)
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Options:



BE1547539221. 1
B1547539222 2
B1547539223. 3
61547539224, 4

Question Number : 82 Question Id : 61547510060 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
S ol ,x:a,ubf&')dfutuiwi-wu..;uTé,«a&»uﬁ@;i.,,y
CL I ) ¥ @
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Options:

61547539225, 1
61547539226 2
61547539227, 2
61547539228 4

Question Number : 82 Question Id : 61547510060 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
S ol ,x:a,ubf&')dfutuiwi-wu..;uTé,«a&»uﬁ@;i.,,y
CL I ) ¥ @
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Options:

61547539225, 1
61547539226 2
61547539227, 2
61547539228 4

Question Number : 83 Question Id : 61547510061 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547539229, 1
61547539230 2
61547539221 2
61547539222 4

Question Number : 83 Question Id : 61547510061 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Q%glﬁbgsfjjbéiﬁéﬁ;b’uﬁ “J)h_._,-’”
F o b o
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Options:

61547539229, 1
61547539230 2
61547539221 2
61547539222 4

Question Number : 84 Question Id : 61547510062 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547539233, 1
61547539224 2
61547539235 2
61547539236 4

Question Number : 84 Question Id : 61547510062 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475392331
61547539234 2
61547539225, 5
61547539226, 4

Question Number : 85 Question Id : 61547510063 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547539257, 1
61547539238, 2
61547539239 2
61547539240 4

Question Number : 85 Question Id : 61547510063 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547539237, 1
61547539238 2
E1547529229 2
61547539240 4

Question Number : 86 Question Id : 61547510064 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
615475392411

E1547539242. 2
E1547539243. 3
B1547539244. 4

Question Number : 86 Question Id : 61547510064 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547539241, 1
61547539242 2
61547539242 =2
E1547529244 4

Question Number : 87 Question Id : 61547510065 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
51547539245, 1
61547539246, 2
61547539247 2
£1547539248. 4

Question Number : 87 Question Id : 61547510065 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Corred Marks: 2 Wrong Marks: 0
ﬂjgm'@dj/&’”"L;'”'/?‘i'&.l;b%ﬂ'?éfdgd};ﬁ(jyi.gg__,,ftf[,uggf’df”
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Al @ d%tﬂﬁdb (3)
Options:
61547539245, 1
61547539246, 2
61547539247, 3
61547535248, 4



Question Number : 88 Question Id : 61547510066 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547559249, 1
61547539250 2
61547539251, 2
61547539252 4

Question Number : 88 Question Id : 61547510066 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547559249, 1
61547539250 2
61547539251, 2
61547539252 4

Question Number : 89 Question Id : 61547510067 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
615475392531



E1547539254. 2
61547533255, 3
515475339256, 4

Question Number : 89 Question Id : 61547510067 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475392531
61547539254 2
E1547529255 =2
61547539256, 4

Question Number : 90 Question Id : 61547510068 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547539257, 1
61547539258 2
61547539259 2
61547539260 4

Question Number : 90 Question Id : 61547510068 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

61547539257, 1
61547539258 2
£1547529259 2
615475239260, 4

Question Number : 91 Question Id : 61547510069 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547539261, 1
E1547539262. 2
61547539262 5
61547539264, 4

Question Number : 91 Question Id : 61547510069 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:
61547539261, 1

E1547539262. 2
E1547539263. 3
B1547539264. 4

Question Number : 92 Question Id : 61547510070 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547539265, 1
E15475329266. 2
61547539267, 5
61547539268, 4

Question Number : 92 Question Id : 61547510070 Question Type:
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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MCQ Option Shuffling: No Display Question Number : Yes
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Options:

61547539265, 1
E15475329266. 2
61547539267, 5
61547539268, 4

Question Number : 93 Question Id : 61547510071 Question Type:
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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MCQ Option Shuffling: No Display Question Number : Yes
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Question Number : 93 Question Id : 61547510071 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Question Number : 94 Question Id : 61547510072 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Question Number : 94 Question Id : 61547510072 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 95 Question Id : 61547510073 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 95 Question Id : 61547510073 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 96 Question Id : 61547510074 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 96 Question Id : 61547510074 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 97 Question Id : 61547510075 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 97 Question Id : 61547510075 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 98 Question Id : 61547510076 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 98 Question Id : 61547510076 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 99 Question Id : 61547510077 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 99 Question Id : 61547510077 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 100 Question Id : 61547510078 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 100 Question Id : 61547510078 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 101 Question Id : 61547510079 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 101 Question Id : 61547510079 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 102 Question Id : 61547510080 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 102 Question 1d : 61547510080 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 103 Question 1d : 61547510081 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 103 Question 1d : 61547510081 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 104 Question 1d : 61547510082 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1 104 Question Id : 61547510082 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1 105 Question Id : 61547510083 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 105 Question Id : 61547510083 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 106 Question Id : 61547510084 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 106 Question Id : 61547510084 Question Type:
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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MCQ Option Shuffling: No Display Question Number : Yes
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Question Number : 107 Question Id : 61547510085 Question Type:
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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Question Number : 107 Question Id : 61547510085 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 108 Question Id : 61547510086 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



,U?.g:_,/ J}Jﬁ.-d:d.'.s

Slg < 7 4 L’Mgﬁ-bé (A)
f b oenl o F oz Gila
fﬁﬁ;}lﬁfﬁu;d; (B)
e Wi 2lpa (s

é;g;/l;”a/c:@@vﬁ/? (&

‘,;'glﬁfjufﬁfﬁ’/u:?;

P/l & e h 2l K 2 2 I )
o W sw GirT 4 28 4 /s

édwd;ﬂ@f

©) Q) ©@ (B) .2l (A) (1)

D) 24 B) (4) 1) LIRV-NE &)



Options:
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Question Number : 108 Question Id : 61547510086 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 109 Question Id : 61547510087 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475393331
£15475392324 2
£1547529235 2
61547539226 4

Question Number : 109 Question Id : 61547510087 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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£15475392324 2
£1547529235 2
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Question Number : 110 Question Id : 61547510088 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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615475393371
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61547539229, 5
61547539240 4

Question Number : 110 Question Id : 61547510088 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 111 Question Id : 61547510089 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 111 Question 1d : 61547510089 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



_.u,?.é".;;/}nc;u:d,i

Y ;{:{af&;{f g;ﬁ//sr'b);b

& J/’;‘1{52;;"Jad@uﬂgygug;(j&&h (B)

;Gﬁf;ﬁir}ﬂj%q.sjiisLT.::,Q;JI? (C)

LJ:b’ﬂaJﬁyub’(f{d;a'ﬁ /;c’ :/”{z(};?j;f D)
: éd»t‘f‘dc;./;éd

(C) 241 B) (2 @) 2l Q)

A)

—

A) 2D @ ©) 2l (3

Options:

61547539241, 1
61547539242 2
61547539343 2
61547539344 4

Question Number : 112 Question 1d : 61547510090 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 112 Question Id : 61547510090 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 113 Question Id : 61547510091 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 113 Question Id : 61547510091 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 114 Question Id : 61547510092 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 114 Question Id : 61547510092 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 115 Question Id : 61547510093 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 115 Question Id : 61547510093 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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Question Number : 116 Question Id : 61547510094 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 116 Question Id : 61547510094 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 117 Question Id : 61547510095 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 117 Question Id : 61547510095 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 118 Question Id : 61547510096 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 118 Question Id : 61547510096 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 119 Question Id : 61547510097 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 119 Question Id : 61547510097 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 120 Question Id : 61547510098 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 120 Question Id : 61547510098 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 121 Question Id : 61547510099 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 121 Question Id : 61547510099 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 122 Question Id : 61547510100 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 122 Question Id : 61547510100 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 123 Question Id : 61547510101 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 123 Question Id : 61547510101 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 124 Question Id : 61547510102 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 124 Question Id : 61547510102 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 125 Question Id : 61547510103 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 125 Question Id : 61547510103 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



: z*:_fﬁq;.gjf&ufdfdjf

J Y W IS AN
i (ii) KJDLW(&?{;UZT-(/ (B)
AL i) K{j’( Lﬁ&@fwﬁ ©)

A ) LJ}/Jrg L)’Ld?u:d,’ (D)

1) (D) «av) (C) «(@i1) (B) «i1) (A) (1)

() (D) «) (C) «m) (B) «av) (A) (2)

@) (D) «an) (C) «av) (B) «11) (A) (3)

(1) (D) «@v) (C) <) (B) «1) (A) (4)

Options:

61547539397, 1
615475393298 2
61547529299, 5
61547539400 4

Question Number : 126 Question Id : 61547510104 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
s 8 236 ez pESbe Joe di LI L JiFes b tsEa
d'f(@:’fsu/lﬁsozfséb'ﬁcﬁ)'uf (1)

S i LESRT I T F o
cf/séhﬁcf])lu;eo%lﬁsd'{rﬁgf (3)
U“/('lf""’héhﬁcf)'u;w]f«/l.;f 4)



Options:

61547539401, 1
61547539402 2
£1547529403 =2
61547529404, 4

Question Number : 126 Question Id : 61547510104 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

se & i ni2sopliile Joa L I ifrsbt it

u‘/r@ﬁtiu/w:?so//@;;ﬁf)l- ~
d'“/(""’ lsu’zlﬁsébﬁcﬁ)luﬁd’/ @)
d]/-éhﬁcf])lujeu/w?sd"/r@f 3)
dgrﬁg'eéﬁjﬁcfj'ujsv;/@}qu (4)

Options:

51547539401, 1
61547539402, 2
61547539403 2
61547539404, 4

Question Number : 127 Question Id : 61547510105 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



?b”z_lftféf BT B8] A
TN g2 pbisarlsl T 2 )
T /oS )Uﬂ& AT E sl (@)
lET,;.:j}ifr’bbfmsﬂjfd‘{/scﬁ)fd’? 3)
il et )Uf' ST E31ls el

Options:

61547539405, 1
61547539406, 2
61547539407, =
61547539408 4

Question Number : 127 Question 1d : 61547510105 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

?Kz_.wﬁéf e ATl e Bk L 3G
J?)Uzéil;f{;;ﬁ?r(u;uti;ufu-*’/ @
7 sl NJE st oF FNpllsnl @
T a1 bl ool T ) )rﬁ )
T i NJE sl FNpllolml

Options:
61547539405 1

E15475339408. 2



E15475339407. 3
515475233408, 4

Question Number : 128 Question Id : 61547510106 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
: E5 82 L J

J}Jdgaﬁ'djfﬁfid{lgdﬁzidfﬁ,dgu»)fgLf(? (1)
dJ'@rdg'sc}f,J?,u'gsm;’fgdéﬁ'u}}dﬂﬁ'd,)fo; (2)
J})!'l/gjd; G'u-)}d,uﬁ'd,,dlu{sd{[gdf]ﬁdfﬁ,dLf (3)
13553 G'd,ﬂfo;sm)fgf(i':ufﬁu'gsd{lgdﬁz (4)

Options:

61547533409 1

61547533410 2

61547523411, 2
61547529412 4

Question Number : 128 Question Id : 61547510106 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

et Macks: 2 wronaMarks:
:éf@x&idwjféﬁﬁdg&ridw}r
»'JJdJ'JG'cMftjsd{tvfivfﬁu‘?s»u'f@"’Lffa' (1)

St o ol CEmaba il @

38t E bl IS CbE ol @

J-)}Lj»l?d,)ro; ‘m)rgd;‘ OV 4 dJlaJJ: (4)



Options:

61547539409, 1
61547539410 2
1547529411, =2
615475239412, 4

Question Number : 129 Question Id : 61547510107 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

615475394131
£1547529414 2
61547529415
61547539416 4

?4;_,{&”';’.,,}:;@}»;6&@,5@,

il C6 T I bes B S
sl G5 S S b 2
oo ST ar S ondl 56
SoIE b S am o $ELT 1 I

(1)

(2)

(3)

Question Number : 129 Question Id : 61547510107 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Options:

615475394131
£1547529414 2
61547529415
61547539416 4

?.;;,gg’]i.,f:}‘&b;éﬁdsw

w)be-"fﬁﬁ(ff:efd}'f‘ul&u]éwd{wf
ﬂ!)ff”cﬁéﬁ'(ﬁgf«fd}'%d{Wfﬁubc)]é'ﬂ'
oI ST ar S andlr 56
ST a2 GELF 1 G

(1)

(2)

(3)

(4)

Question Number : 130 Question Id : 61547510108 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

:édxﬁé#?ga_@r&w
Py T Gl G o
c)]/:‘-f?-)ﬁk:-dwd@-d?ﬁﬂf @)
c)]/:‘-dng.«:él-‘ﬂ-tﬁ?w-f;ﬁ&} (3)
cﬁfﬁ;w-dwdl&ﬁ-ﬁgﬁb-d]ﬂ (1)



E1547539417. 1
615475339418, 2
51547539415, 3
61547523420, 4

Question Number : 130 Question Id : 61547510108 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

:é@x&idyf}gaﬁf&w
Kfﬁkﬁ-c);,cf-(ﬁ?ﬁﬂl‘-dwd@ (1)
o A - l/-j/é,b Sl G @
S Sl G /f'l,-,: (3)
Lﬁgﬁw-dwél@-ﬁgﬁb-d}/{ (4)

Options:

61547539417, 1
61547539418 2
£1547529419 2
61547529420, 4

Question Number : 131 Question Id : 61547510109 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



: .{r,g?f:?gc;;@l&wdu;'}bé,J-E;'{.Jf_.
Jfg'l,y a1l h# @
delg cokp . aleedl L ¥ @
o9 . alrrl ~l db;f : delg (3)

dlaﬁ. J/ut,y AT M CY Y7 BN

Options:

61547539421, 1
61547539422 2
61547539423 =
61547539424 4

Question Number : 131 Question Id : 61547510109 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

: .{r,g?f:?gc;;@l&wdu;'}bé,J-E;'{.Jf_.
Jfg'l,y a1l h# @
delg cokp . aleedl L ¥ @
095 . Al 1 u‘ljff : *J’fdl,g‘ (3)

dljﬁ. J/ut,y Y M CY D B )



Options:

61547539421, 1
61547539422 2
E1547529422 =2
615475239424, 4

Question Number : 132 Question Id : 61547510110 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

:fu’:,c56#?{66??2,1:&'16;;&&.5
ekl el )
_gr/%wiiw; (2)
yi:ﬂh_gl/ﬁa/i (3)

ol jis sl (4)
Ak A

Options:

61547539425, 1
61547539426 2
61547539427 2
E1547529428 4

Question Number : 132 Question Id : 61547510110 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



:ngjﬁégf}’géétﬁ(}&lfléﬂuﬁdj
ekl el )
Ql/aa/iwfs&?; (2)
el il Fag @

wlae s gdl @

Options:

61547539425, 1
61547539426 2
61547539427 2
E1547529428 4

Question Number : 133 Question Id : 61547510111 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

:édxﬁdﬁ?iaﬂfwr&w
%L#ﬁﬂg;;b’jid;f::é’ié.L’:(”(_,‘f{z_'/::‘ (1)
Lbﬁ"‘f{gﬁs}/‘fi#’ﬁ;g;;b’ﬁsd;f}f/ 2)
dﬂ}:::?”sé_,biﬁﬁgﬁsﬂLJfTsLJ;Kﬁ (3)

Ll&ﬁ""ﬁ/.{..,/;’U;f:::?’;[.ﬁb”ﬁa}/ﬂi?ﬁff (4)



Options:

561547539429, 1
61547539420 2
£1547529421. =2
615475239422, 4

Question Number : 133 Question Id : 61547510111 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

:éw&idwjfgajg‘wr&w
}/ﬂigﬁag;;b’ﬁidﬁ};@é_b(f""cf'/z..f,c:‘ (1)
z;bﬁ"d‘fgﬁ;/igﬁigwﬁu{;& 2)
d)lﬁé:::?‘aé_,biﬁf;/a%LJffaL;-;Kﬁ (3)

Llﬁﬁ“"f{a_/fnd;f::é’;l_.ﬁb’ﬂn}/ﬂiyﬁﬁ (4)

Options:
61547539429 1

E1547539420. 2
E1547539421. 3
51547533432, 4

Question Number : 134 Question 1d : 61547510112 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



:éw&idq:,?ééa,-l_:w.&;u;
§ 1AL sl ST B @
ST MG ATl binsls @)
IR AGH T Besbosls ®

§ 12108 b LU SIS E T B @

Options:

61547539433, 1
61547539434 2
61547539435 =
1547539436 4

Question Number : 134 Question Id : 61547510112 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

: édkbd-ﬁf: . ;::,J-!:Z'WI.L:.«G;
§ LA LN bl SES A @
St B8 LA Bz b sl @
1AL AT Biborsls @

§ 12108 b LSS ET B @

Options:
61547539453 1



E1547539424. 2
61547533435 3
51547533436, 4

Question Number : 135 Question 1d : 61547510113 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

éo»tﬂé._/f" ;
B E Gl IS £ A
LI EL IS Lo s o
Gt B2 B8 LB B @
aﬁjj;&gg_u;w?m&_,ﬁfj (4)

Options:

61547539437, 1
61547539438 2
£1547529429 =2
61547529440, 4

Question Number : 135 Question Id : 61547510113 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



528

I 2 Esale B 2Bl
B Eab B L Bl A
Frub I Eab I 2Bl
o £ Qs A1 ale IS 4

Options:
E15475359437. 1

E15475394358. 2
51547533439, 3
51547539440, 4

(1)

F o

2)

(3)

(4)

Question Number : 136 Question 1d : 61547510114 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

: é@xt‘v‘gﬂ@/;é‘J;raﬁ:?,c:,fu.".fl,q;é’//d:df:vgﬂr&hvﬁwJ.'.s

,(f,dlbfﬂd,/"fiél‘:lfybéi/)yf

(55

B B ikt B G L AL U

4.»5(5:*;,-;1.:;,5&; @)

Options:
51547539441, 1

q;iﬁd'-{:;)l.ﬁi;gfﬁh (1)
égpgﬁ:;-}fégﬁfa (4) ékﬁfd{u)ld‘;bﬁﬁfj

(3)



E1547539442 2
51547539443 3
51547539444, 4

Question Number : 136 Question 1d : 61547510114 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

: é(ﬁxb“igj;../;g;;fa.f:i,éjfufl,gg,fdadf:vﬁm&f:vﬁwJ.i

BBl Al ¢

B B ikt R i L AL o
4—9"(’5:*::'}'4—{@}3; 2) éﬁﬁdjwlé—gtiﬁf: 1)
4,5:55&,,,;4,5@;, (4) 4—bﬁdd'd'jwlé—bﬁf5f: (3)

Options:

61547539441, 1
61547539442 2
61547539442 =
£1547529444 4

Question Number : 137 Question Id : 61547510115 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
: E G il Ae2he $IT e § Il Litts
,4_1’:/.,935;;@-;&‘6:#'41,1-@,'lp‘t;rd;b e
,4_6::/.?56:)//uf-d;bfwd";ﬁgj?’éz;ly;r}/ ; dﬂj;
é}—bﬁfﬁfwfé—é‘ﬁ: ) cg—ﬁﬁd'fwlc;—gﬁf: (1)
r-';—b%gd'jmlé—bﬁﬁf: (4) égtfftﬁmi-é—gﬁffﬁ (3)

Options:
61547539445 1
61547539446 2



E1547539447. 3
515475394458, 4

Question Number : 137 Question Id : 61547510115 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

3étﬁﬁ15‘5(54-'/'»’({J'Jfé,,f'—?-..éuf“uf-fch—fdzdfaugf»'&fwgluﬁJ-'«i
,4_8/V_Oﬁéx;@-ﬁd.té’dbvuw/rd;b : §5)
,cg_dam';‘fd:)//ufid}bfwdf';_f?gjf'”’da;imr;/ S
ébﬁfﬁfw'ﬁfé—gcﬁa ) 4—‘65&)'3»}'4—546:’: (1)
é—b%éd'jwlq—bﬁﬁfs (4) 4—54&’5&:1}'4—56% (3)

Options:

61547559445, 1
61547539446 2
61547539447 =
61547539445 4

Question Number : 138 Question 1d : 61547510116 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
:éo‘.-,c6564,/;6’;;14;?Ljﬁuﬁt,q,@fd;df;..gurw;uﬁutJ.s
,4—d3b;bfgﬁ..§lb’,m-fly;b“ﬁ 85
4,_5.@{‘_,?.’:@.,*1,:1;1;@&%{@#}»&.d;bu’t : J'f;
q;éddﬂ“fd'jwfq;gtﬁfa @) q—bﬁ&ﬁmf{—gdﬁ (1)

zg_éﬁd'-{:;;l:‘:—ﬁﬁ&f: (4) zﬁ_’_bﬁfd’-{wla‘:_bﬁéh (3)

Options:
51547539449, 1
61547539450 2



E1547539451. 3
51547533452, 4

Question Number : 138 Question Id : 61547510116 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks:
:éu‘.-,c564/;51;14?.,.;Juﬁ-;fd;df;.,ﬁur&h,{uJ.s

e bkl ST 57
4,_Q?gj.’:uf.;l,cuw5&g::%ﬁruf.d;bu’t ) J'f;
égﬁﬁzjﬁféngJ ) q—bﬁd'jqu—gtff: (1)

:‘:,gpd'-{wlz‘;ﬁﬁﬁfa (4) c;,bﬁugdfu)lé,bﬁﬁf: (3)

Options:

51547539449, 1
61547539450 2
61547539451 =2
£1547539452 4

Question Number : 139 Question Id : 61547510117 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks:
: é(ﬁﬁL‘:'j(jé_/)’é‘J}fa_.f,}?L;'};Uﬁf,é—cgdjdﬁjvg;}l&f}..agdtJ;E
P PR L L L IO TP T
,c_:,éu‘ml,&iJ..-:“l/“"aggdul-mtdumfﬂé,w : (b
é—gd{wl{—bﬁ&fﬂ 2) éj—ﬁfdf'wfcg—édfﬁfs (1)
égu‘éﬁw@—g@% 4) cwF e w55 )

Options:
61547539453, 1



E1547539454. 2
51547533455, 3
51547533456, 4

Question Number : 139 Question 1d : 61547510117 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

: é(ﬁ-—,«:L:Jjgjd../,fg;}fcji?.,Lg}’oiu:‘;f.,éi—cgdsd-{:vgul&f;..gdﬁ*JLS

P PR L AL I B D PN T2

e

c;,édd{w,-l;:;bﬁ&f: (2) drﬁ'fdi':;;rq_(r;grﬁf: (1)
q;édpgdf:)-}rq:,g&f: (4) q;yffdf;;-;lq;bﬁﬂﬁf: (3)

Options:

51547539453,
61547539454,
61547539455,
51547539456,

[ N

Question Number : 140 Question Id : 61547510118 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

éd»’lf'jtjéf/igﬂ’efiJ"’-..c:f»"’“uﬁl,{.;-t.:gdadf:ugfﬂ'fﬁfau..(luf-“J-'J

A e Ll 2

2l UEar bt o s

é}bﬁtﬁjmiégﬁfﬁ 2) é}-@ﬁu‘édjwk}-gﬁf: (1)

é—ﬁﬁuédfwlé—ﬂ%ékffﬁ (4) 4—5&»}'4—535)’: (3)
Options:

B1547533457. 1
51547533458, 2



E1547539459. 3
51547533460, 4

Question Number : 140 Question Id : 61547510118 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

éd»‘Lf’”'tjé—/iéﬁﬂiéf??Lquffldq;de:dfsungf:u..(lu:*J«S
UM e Ll 2 2 (5

ad ULPulr Ui b+ s

q;ﬁﬁdf:)-ﬂq‘—gt;‘f: @) dj—@ﬁdﬁfﬁn}fégdﬁ (1)

e W F Lol 8F 55 @ égﬁwﬂq—ﬁ&f: 3)

Options:

61547559457, 1
61547539458, 2
61547539459 =
61547539460 4

Sub-Section Number: 2
Sub-Section Id: 615475437
Question Shuffling Allowed : Yes

Question Id : 61547510119 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension
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Sub questions

Question Number : 141 Question Id : 61547510120 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

f‘u_’,é}? J:’Tlfc:,gf{uf WLsf}ﬁlﬁ.-ﬁ..f/LJb#

L8 @) ¢ @

B (4) &l (3

51547539461, 1
61547533462, 2
61547533463, 3
61547529464, 4

Question Number : 142 Question Id : 61547510121 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
?4,@5{6/ LN s
Ol @ Qb ol

_v!'gcjl}@x. (4) ff}/lgﬁ’:’ (3)

Options:

61547539465, 1
615475239466, 2
61547539467, o
61547539468, 4

Question Number : 143 Question Id : 61547510122 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Options:

61547539469, 1
61547539470 2
E1547529471. 2
615475239472, 4

Question Number : 144 Question Id : 61547510123 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e P BT e bl S U
<Ol @ I @

A2 @ gl{/lﬁ (3)

Options:

61547539473, 1
61547539474 2
61547539475 =2
E15475329476. 4

Question Number : 145 Question Id : 61547510124 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
7 % ’
‘-‘é—@fdl’é&fﬁfﬂééﬁﬁﬂ

S @ <Al (D

-

V) 5/15 (3)



Options:

61547539477, 1
61547539478 2
E1547529479 2
615475239480, 4

Question Id : 61547510119 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehiension
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Sub questions

Question Number : 141 Question Id : 61547510120 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

f‘u_’,é}? J:’Tlfc:,gf{uf WLsf}ﬁlﬁ.-ﬁ..f/LJb#

L8 @) ¢ @

B (4) &l (3

51547539461, 1
61547533462, 2
61547533463, 3
61547529464, 4

Question Number : 142 Question Id : 61547510121 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
?4,@5{6/ LN s
Ol @ Qb ol

_v!'gcjl}@x. (4) ff}/lgﬁ’:’ (3)

Options:

61547539465, 1
615475239466, 2
61547539467, o
61547539468, 4

Question Number : 143 Question Id : 61547510122 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Options:

61547539469, 1
61547539470 2
E1547529471. 2
615475239472, 4

Question Number : 144 Question Id : 61547510123 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547539473, 1
61547539474 2
61547539475 =2
E15475329476. 4

Question Number : 145 Question Id : 61547510124 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
7 % ’
‘-‘é—@fdl’é&fﬁfﬂééﬁﬁﬂ
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Options:

61547539477, 1
61547539478 2
E1547529479 2
615475239480, 4

Sub-Section Number: 3
Sub-Section 1d: 615475438
Question Shuffling Allowed : Yes

Question Id : 61547510125 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehiension
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Sub questions

Question Number : 146 Question 1d : 61547510126 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



¢ 37 b Jsb U GBI LT
u:‘) Jhl @
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Options:

615475394581, 1
61547539482 2
615475394383 =2
E1547529454 4

Question Number : 147 Question Id : 61547510127 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



CLITMOE L3P b U Bo10n 2
uf’,;u’::r (1)
dG&af” (2)

Eweld 3

Sl I

Options:
61547539455, 1

E1547539486. 2
B1547533487. 3
515475334588, 4

Question Number : 148 Question 1d : 61547510128 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

S sl S U LI Bl i
ﬁ%pki @) ﬁ&ﬁ)g (1)

rnufj (4) (fufj (3)

Options:
615475394589, 1



E1547539430. 2
51547539451, 3
61547539452, 4

Question Number : 149 Question 1d : 61547510129 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

S 3l IS 2

"

Ju’f.g (2) < A Q)

Ei @ LA @)

Options:
615475394493 1

E1547539454. 2
E15475394385. 3
51547533456, 4

Question Number : 150 Question Id : 61547510130 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

51547539497, 1
E1547529498 2
61547529499, 5
61547533500, 4

Question Id : 61547510125 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label | Comprehension
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Sub questions

Question Number : 146 Question Id : 61547510126 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

S 37 o b U B0 an
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Options:

615475394581, 1
61547539482 2
615475294582 5
6154752394584 4

Question Number : 147 Question Id : 61547510127 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



CLITMOE L3P b U Bo10n 2
uf’,;u’::r (1)
dG&af” (2)

Eweld 3

Sl I

Options:
61547539455, 1

E1547539486. 2
B1547533487. 3
515475334588, 4

Question Number : 148 Question 1d : 61547510128 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

S sl S U LI Bl i
ﬁ%pki @) ﬁ&ﬁ)g (1)

rnufj (4) (fufj (3)

Options:
615475394589, 1



E1547539430. 2
51547539451, 3
61547539452, 4

Question Number : 149 Question 1d : 61547510129 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

S 3l IS 2

"

Ju’f.g (2) < A Q)

Ei @ LA @)

Options:
615475394493 1

E1547539454. 2
E15475394385. 3
51547533456, 4

Question Number : 150 Question Id : 61547510130 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

51547539497, 1
E1547529498 2
61547529499, 5
61547533500, 4



